restart

EcuacionUno = diff (z ), x$2) —5- dlﬁ‘ ), x,y) +6-diff (z(x,y),y$2) =0

15 Y Ay
SolucionGralUno = pdsolve( EcuacionUno)
SolucionGralUno :=z(x,y) = FI (y +2x)+ F2(y+3x)

EcuacionDos = diff (z(x, y), x$2) —4-diff (z ), x,v) +4-diff (z(x,y),182) =0

EcuacionDos := —Zz(x,y) — ( 62 )) +4 (iz(x,y)j =0
ax war a”
SolucionGralDos := pdsolve( EcuacionDos)
SolucionGralDos :=z(x,y) = FI(y +2x) + F2(y+2x)x

SolucionGralDosAlterna == z(x,y) = FI(y +2x) + F2(y+2x) -y
SolucionGralDosAlterna :=z(x,y) = FI(y+2x) + F2(y+2x)y

Comprobacion| = simplify(eval(subs(z(x, y) = rhs(SolucionGralDos), EcuacionDos) ) )

EcuacionUno = iz z(x,y) —35 (
ox

Comprobacion, :=0=0

Comprobacion,, = simplify(eval(subs(z(x, y) = rhs(SolucionGralDosAlterna),

FEcuacionDos) ) )
Comprobacion, :=0 =0
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